Sierra Equipment Supply PO Box 8400 Truckee, CA 96162 530-582-0300

530-582-0300 jaime@elementsmtn.co



Estimate

ADDRESS

Bret Albert Town of Truckee 10183 Truckee Airport Road Truckee, CA 96161 ESTIMATE # 1140 DATE 10/20/2022

ACTIVITY	QTY	RATE	AMOUNT
Base Tractor MV5 Base Tractor MV5 with 74 HP Tier 4 Final Engine, Limited Slip Axles, 3-Speed Shift on the Fly, Single High-Flow Pump and Loader Lug Tires	2	119,625.00	239,250.00T
MacLean:Upgrade to 120 HP Tier 4 Final Engine Upgrade to 120 HP Tier 4 Final Engine / MV5 Tractor	2	13,679.90	27,359.80T
MacLean:Air Conditioning Air Conditioning	2	4,240.65	8,481.30T
MacLean:1205345 Upgrade to Front Differential Locking Axle	2	1,706.80	3,413.60T
MacLean:1205347 Upgrade to Rear Differential Locking Axle	2	1,706.80	3,413.60T
MacLean:1205903 Second High Flow Hydraulic Pump and Electric Control System Second High Flow Hydraulic Pump and Electric Control System	2	3,340.50	6,681.00T
MacLean:1129982 Winter Radial Tires Upgrade 1129982 Winter Radial Tires Upgrade	2	958.80	1,917.60T
MacLean:1153028 Brush Guard ASSY, MV4 1153028 Brush Guard ASSY, MV4	2	940.95	1,881.90T
MacLean:1153038 LED Package (front amber lights and amber lights on rear of cab) 1153038 LED Package (front amber lights and amber lights on rear of cab)	2	360.40	720.80T
MacLean:Arctic Insulation Package	2	520.20	1,040.40T

ACTIVITY	QTY	RATE	AMOUNT
(insulated cab ducting) Arctic Insulation Package (insulated cab ducting)			
MacLean:Rear Panel Shields Rear Panel Shields	2	459.85	919.70T
MacLean:SnoQuip 60in XX Snow Blower Head SnoQuip 60in XX Snow Blower Head	1	25,818.20	25,818.20T
MacLean:SnoQuip 51in XX Snow Blower Head SnoQuip 51in XX Snow Blower Head	1	25,974.90	25,974.90T
Shipping Shipping, Freight & Delivery	1	4,500.00	4,500.00
Pricing for Maclean MV5 equivalent to current HGAC contract			
	SUBTO		351,372.80 28,617.01
	TOTAL		\$379,989.81

Accepted By

Accepted Date





MacLean MV5 Dealer Pricing

Effective November 24, 2021



	Part #	Municipal Price	HGACBuy Discount
Base Tractor with 74 HP Tier 4 Final Engine, Limited Slip Axles, 3-Speed Shift on the Fly, Single High-Flow Pump and Loader Lug Tires	1219600	\$145,000.00	17.5% discount
Factory Installed Tractor Options	\		
Upgrade to 120 HP Tier 4 Final Engine	1212220	\$16,094.00	15% discount
GPS Speedometer	1200679	\$1,000.00	15% discount
Air Conditioning	1212980	\$4,989.00	15% discount
Screen Kit for A/C Condenser Recommended for mowing applications	1134085	\$370.00	15% discount
Second High-Flow Hydraulic Pump and Electric Control System	1205903	\$3,930.00	15% discount
Upgrade to Front Differential Locking Axle	1216719	\$2,008.00	15% discount
Upgrade to Rear Differential Locking Axle (to be used in conjunction with Front Differential Locking Axle)	1175155	\$2,008.00	15% discount
15 minute Engine Idle Shutdown (replaces default setting of 2 hours)	1205904	\$600.00	15% discount
Cruise Control	1219260	\$3,064.00	15% discount
Cab Roof and Headlight Guard	1153028	\$1,107.00	15% discount
Arctic Insulation Package (insulated cab ducting)	1175196	\$612.00	15% discount
Fire Extinguisher (dry chemical, 2.5 lbs)	1188218	\$135.00	15% discount
First Aid Kit	1188219	\$125.00	15% discount
Upgrade to Reversing Engine Fan Recommended for mowing applications	1215243	\$3,861.00	15% discount
Guard for Radiator & Charge Air Cooler and Hydraulic Oil Cooler	1212200	\$849.00	15% discount
Auto Start/Stop for Standard High Flow Hydraulics (auto start/stop for salt and sand spreaders)	1206532	\$614.00	15% discount
Inclinometer for Side Hill Gradeability	1212202	\$266.00	15% discount





		Municipal	HGACBuy
	Part #	Price	Discount
Upgrade to Winter Radial Tires (replaces OEM loader lug style tires and rims)	1129982	\$1,128.00	15% discount
Class 4 Rear Receiver Hitch	4402470	4750.00	450/ 11
Cannot be used with rear mount salt and sand spreaders or water tanks	1182470	\$750.00	15% discount
Rear Pintle Hitch (for receiver hitch)	1101585	\$400.00	15% discount
Swivel Pintle Hitch (for receiver hitch)	1178544	\$725.00	15% discount
Cab Mounted Electric Brake Control for 1 1/4 yard Tow Behind Salt and Sand Spreader	1224702	\$515.00	15% discount
Illuminated License Plate Mount	1153040	\$199.00	15% discount
Backup Camera	1200680	\$1,200.00	15% discount
Upgrade to LED Light Package (tail, signal)	1153038	\$424.00	15% discount
Upgrade to LED Strobe Light (blue & yellow) c/w Roof Guard Kit (replaces beacon)	1183741	\$2,995.00	15% discount
Upgrade to LED Strobe Light (green & yellow) c/w Roof Guard Kit (replaces beacon)	1216701	\$2,995.00	15% discount
Upgrade to LED Strobe Light (yellow) c/w Roof Guard Kit (replaces beacon)	1202150	\$2,995.00	15% discount
Additional Backup Light	1205881	\$325.00	15% discount
Rear Panel Shields	1224703	\$541.00	15% discount
Label Package - FRENCH	1224704	No Charge	
Wheels and Tires			
Loader Lug Style Winter Tire and Rim (10.00 x 16.5, 8 ply)	1085170LH/RH	\$451.00	15% discount
Winter Snow and Ice Radial Tire and Rim (245/75/R16, 10 ply)	1112068	\$743.00	15% discount
Heavy Duty Winter Snow and Ice Radial Tire and Rim (265/75/R16, 10 ply) To be used in conjunction with 1 yard salt and sand spreader Cannot be studded	1183731	\$773.00	15% discount
Summer Turf Style Tire and Rim (31 x 15.5 x 15, 10 ply)	1085185	\$1,029.00	15% discount
Snow Blower Attachments			
50" Dual Auger Snow Blower with Sidewalk Chute	1082915	\$14,900.00	10% discount
Special Rear Mounted Skid Shoes and Associated Cutting Edge (for 50" dual auger snow blowers only) To be used in scraping applications	1114551	\$650.00	10% discount
60" Dual Auger Snow Blower with Sidewalk Chute	1100465	\$15,500.00	10% discount
70" Dual Auger Snow Blower with Sidewalk Chute	1099890	\$15,995.00	10% discount
80" Dual Auger Snow Blower with Sidewalk Chute	1101540	\$16,500.00	10% discount
Truck Loading Chute Extension with Hoses (fits dual auger snow blowers only)	1087461	\$1,140.00	10% discount
50" Ribbon Snow Blower	1117900	\$26,995.00	10% discount
End Plate Kit for Ribbon Snow Blower	1125299	\$799.00	10% discount
Rubber Deflector Flap for Ribbon Snow Blower	1136160	\$199.00	10% discount
Drift Cutter Kit for Ribbon Snow Blower	1118030	\$313.00	10% discount
Hydraulic Top Link for Ribbon Snow Blower	1136785	\$1,199.00	10% discount

T: 519-370-2999 F: 519-370-2546

W: www.macleanengineering.com





	Part #	Municipal Price	HGACBuy Discount
Hydraulically Extendible Truck Loading Chute (fits ribbon blowers only) Must be shipped crated separately from snow blower	1178545	\$6,900.00	10% discount
Snow Plow Attachments		2	
60" Full Trip Angle Plow with Skid Shoes	1139680	\$5,895.00	10% discount
60" Trip Edge Style Angle Plow	1087464	\$5,595.00	10% discount
72" Trip Edge Style Angle Plow	1100480	\$5,700.00	10% discount
84" Trip Edge Style Angle Plow	1100891	\$6,400.00	10% discount
96" Trip Edge Style Angle Plow	1100901	\$6,800.00	10% discount
Trip edge angle plows do not use skid shoes and have split cutting edges			
51" Fixed V Plow	1082885	\$4,900.00	10% discount
60" Folding V Plow	1226100	\$8,995.00	10% discount
82" Oscillating Folding V Plow	1176750	\$9,995.00	10% discount
Salt and Sand Spreader Attachments			
5/8 yard Hydraulic Salt and Sand Drop Spreader (rear mount c/w lights and hood shield)	1082910	\$7,250.00	10% discount
Lid for 5/8 yard Hydraulic Salt and Sand Spreader	1197800	\$650.00	10% discount
Bumpers for 5/8 yard Hydraulic Salt and Sand Spreader	1188215	\$475.00	10% discount
1 yard Hydraulic Salt and Sand Spreader Kit (rear mount, c/w H.D. radial tires, wheel weights and MV counterweights)	1183733	\$13,900.00	10% discount
LED Light Upgrade for Rear Mount Hydraulic Salt and Sand Spreaders and Water Tanks	1111326	\$239.00	10% discount
1 1/4 yard Tow Behind Salt and Sand Spreader Requires cab mounted electric brake control, class 4 receiver hitch, and swivel pintle hitch	1138300	\$18,995.00	10% discount
Sweeper and Spray System Attachments			
60" Power Angling Sweeper with Tilt Cylinder Requires second high flow hydraulic pump if sweeper is to run with salt and sand spreaders	1112620	\$8,795.00	10% discount
Dual Motor Option for 60" Sweeper Requires second high flow hydraulic pump Does not allow for proportional control or reverse operation Cannot be used with salt and sand spreaders	1118099	\$1,273.00	10% discount
72" Power Angling Sweeper with Tilt Cylinder Requires second high flow hydraulic pump Does not allow for proportional control or reverse operation Cannot be used with salt and sand spreaders	1100915	\$9,795.00	10% discount





	Part #	Municipal Price	HGACBuy Discount
84" Power Angling Sweeper with Tilt Cylinder Requires second high flow hydraulic pump Does not allow for proportional control or reverse operation Cannot be used with salt and sand spreaders	1100925	\$10,250.00	10% discount
Pickup Sweeper Requires second high flow hydraulic pump if sweeper is to run with salt and sand spreaders	1127460	\$14,500.00	10% discount
60" Offset Sweeper with Tilt Cylinder Requires second high flow hydraulic pump if sweeper is to run with salt and sand spreaders	1176320	\$13,995.00	10% discount
Dual Motor Option for 60" Offset Sweeper Requires second high flow hydraulic pump Does not allow for proportional control or reverse operation Cannot be used with salt and sand spreaders	1180501	\$1,273.00	10% discount
Water Tank and Pump Kit (spray bar not included)	1097860	\$4,500.00	10% discount
Spray Bar Kit for Angle Sweepers and Offset Sweeper Requires water tank and pump kit	1097350	\$255.00	10% discount
Spray Bar Kit for Pickup Sweeper Requires water tank and pump kit	1127570	\$255.00	10% discount
Anti-Ice Spray System	1151050	\$5,299.00	10% discount
Mowing Attachments			
14' Rotary Finishing Mower Requires second high flow hydraulic pump	1097735	\$23,407.00	10% discount
14' Mower Deflector Kit	1099904	\$453.00	10% discount
10' Rotary Finishing Mower Requires second high flow hydraulic pump	1097730	\$19,500.00	10% discount
10' Mower Deflector Kit	1100722	\$397.00	10% discount
6' Rotary Finishing Mower	1097725	\$8,755.00	10% discount
6' Mower Deflector Kit	1100721	\$225.00	10% discount
Mulching Blades for Finishing Mowers (each)	1106449	P.O.R.	10% discount
74" Front Mount Flail Mower (c/w course cut knife)	1097656	\$14,975.00	10% discount
88" Front Mount Flail Mower (c/w course cut knife)	1097655	\$15,975.00	10% discount
Boom Flail Mower Requires summer turf tires and rims and Lexan window option	1121735	\$42,000.00	10% discount
Lexan Windows for Right Side of MV5 (Lexan and bulb seal only, does not include hardware)	1153003	\$2,016.00	10% discount





	Part #	Municipal Price	HGACBuy Discount
Cold Planer Attachments			
18" Cold Planer (c/w asphalt picks) Requires second high flow hydraulic pump	1087056	\$29,995.00	10% discount
Wet Kit for Cold Planer Requires water tank and pump kit	1122510	\$301.00	10% discount
Specialized Adaptors			
Category 2 Front 3-Point Hitch Adaptor Allows interface of select front mount 3-point hitch style attachments	1117240	\$2,706.00	10% discount
Skid Steer Attachment Adaptor Plate	1176330	\$4,940.00	10% discount
Miscellaneous Items			
Filter Kit	1206538	\$624.00	10% discount

All applicable taxes are extra
Prices are quoted in US Dollars
Prices, product, and specifications subject to change without notice